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No BT EEA HEoEE T L-134 £ L-137 SRHiE

Bag. kg Ba. kg Ba ke
1 =] R7.3.12 X/ BREE9(<47) BRHET(<47) BRHEEY
2 wBE™ R7.3.13 Jx /Y BRHE9(<6.8) BREET(<5.7) BRHEET
3 SEENT R7.3.18 RoLYD () BREE9(<4.6) BRHE3(<3.6) BREed
4 SEHWTH R7.3.18 R BREE9(<4.9) BRHEE9(<3.1) -
5 JIHRHET R7.3.12 PE YISy BRHE9(<6.0) BRHET(<8.1) BREed
6 [ EP T R7.3.17 Hhoo+ BRHEEY(<3.9) BRHEHE9(<3.6) -
7 [LEFHT R7.3.17 NS A (FEFE) BREE3(<4.1) BRHE3(<3.8) BEed
8 = [FET R7.3.17 %/ BRHEE9(<5.5) BRHEE9(<2.7) BT
9 SEITHT R7.3.17 h¥x+ BRHET(<L7.2) BRHE9(<6.1) BRHEET
10 SEITHT R7.3.17 HEBFF BRHEE9(<5.6) BRHEE9(<4.8) BT
11 SEITHT R7.3.17 25/ A(EER) BRHE9(<6.5) BRHEE3(<5.6) BEed
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